Backset 2-3/4 [70 mm]

aymo

INSTALLATION INSTRUCTIONS
LONDON

TOOLS AND MATERIALS REQUIRED
> Drill

> 2-1/8" (54 mm) Hole Saw
> 3/8” (10 mm)] Drill Bit

> 1" (25 mm) Wood Bit

> Chisel
> Phillips Screw Driver
> Tape Measure

CAUTION: Use of manual tools recommended. When using power tools, adjust
to lowest torque setting.

DETERMINE DOOR HANDING:

Stand at the exterior side and face the door.

A. Your door is a LEFT HAND door if hinges are installed at your left hand.
B. Your door is a RIGHT HAND door if hinges are installed at your right hand.

—— M—
r
LEFT RIGHT [
HANDING HANDING IJ ft I"
HINGES @ & HINGES ! +ii

T—F
I p— Y

USE THROUGHBOLT TEMPLATE TO MARK
AND DRILL HOLES

1. MARKDOOR
Use template attached to mark
holes on door face.
A. Make mark for 1”(25 mm) hole
on door edge.
B. Height 36" (914 mm) to 38"
(965 mm) from floor.

2. DRILL HOLES
Select backset. Mark and drill
holes as shown.

Backset
2-3/8” (60 mm)

or
2-3/4” (70 mm)

1 @ — 25 mml
5-1/2" > ©
(140mm) ] (J]or
2-1/8" Y '
(54 mm) A / i
04—1" (25 mm) or 7/8” (22
2-1/8" S 3
(54 mm) ° °©
[ ] OR ’j OR @
3/8" . >
(10 mm) 38— —8-7/16" (

(10 mm) |
\ B

IF REPLACING EXISTING HANDLESET OR INSTALLING ON PRE-DRILLED
DOOR, CHECK DOOR JAMB AND DOOR PREPARATION

2-3/4" Hx 1-1/8" W
(70mm H x 28mm W)

~— 1"Wx1-3/16"D
(25mm W x 30mm D)

< 214" Hx 1-7/16" W
° (57mm H x 36mm W)
mm) @\ _ 1"Wx1"D

0 (25mm W x 25mm D)

(

214 mm)

Chisel outlines for strike plates until
they sit flush with door edge.

RADIUS OR SQUARE CORNER
MORTISE

Chisel 1/8” (3 mm] deep or until latch
face plate is flush with door edge.

n CHOOSE LATCH FACE PLATE FOR HANDLESET & DEADBOLT

DRIVE-IN

|

Vau
4

@ 3/8" (10 mm)

CENTER TO CENTER 5—1/2 [140 mm]

Backset 2-3/8 [60 mm]>

CENTER TO CENTER 8-7/16 [214 mm]

l

N
NUZN

’

CARE AND MAINTENANCE

The following care instructions should be followed to ensure a long lasting finish:
1. Remove locks, or do not install locks, prior to painting your door.

1-3/4"

(45 mm)
" (25 mm) hole at

center of door edge.

Drill 1

Place on door edge

Fold here.

1-3/4"
(45 mm)

(25 mm) hole at

center of door edge.

Drill 1"

2. Periodically clean with mild soap and a soft cloth only.
3. Do not use abrasives or harsh chemicals

S526-H400J12
MAY, 2016



IF NECESSARY ADJUST LATCH INSTALLATIONS FOR PROPER BACKSET

‘ BACKSET
2-3/8" (60 mm)
or
2-3/4" (70 mm)

> ®O——» For2-3/4

DEADBOLT (1)
(70 mm)

Insert Handleset Spindle for
2-3/4” Backset
2-3/8" Backset

E INSTALL HANDLESET LATCH AND DEADBOLT

¢ Place sleeve over handleset latch before installation in
a square corner or radius corner mortise configuration

¢ Do not use sleeve for installations in drive-in configuration

SLEEVE

Tap latch flush

n INSTALL HANDLESET

For 3T R
bore hole :
1

For:
1-1/2" (38 mm)
bore hole

Deadbolt spindle in
horizontal position

® Q) e

Son)

— e m

Correct Incorrect

(FOR SINGLE CYLINDER FUNCTION) INSTALL KNOB OR LEVER

Install Thumbturn

@ e

» o

Tighten screw firmly

— & @

Correct Incorrect

EEEEEEEEEEEEEEEEEEEEN (R EeEeEeEeEeEESEESEESESEESEEEEEEN

\ 4
e@<]

g

Tighten screw firmly

— & @

Correct Incorrect

CAUTION: If you have ordered an inside trim, use the
chassis that is included with the LONDON Handleset.
Discard the chassis that is included with the inside trim.

Install inside knob or lever

Plate required for
square rose only

Emssssssssns O EoSESEEEEEES

BJ nstaLL sTRikEs

Install strikes onto door jamb.

i
|

RN

High Security Strike

3" (76 mm) Screws

©® Nk =

P2

Outside Cylinder 15. Rounded Corner Faceplate

Interior Reinforcing Plate 16. Latch Strike

Deadbolt Latch 17. Washer

Deadbolt Mounting Plate 18. Screw Cap

Interior Deadbolt Rosette 19. 2-Piece Drive-In Collar for Deadbolt Latch

Thumbturn 20. 2-Piece Drive-In Collar for Handleset Latch

Handleset 21. Set Screw (2)

Handleset Latch 22. 2-1/8" (54 mm) Deadbolt Screws (2] or

Interior Chassis 2-15/32" (63 mm) Deadbolt Scews (2)

Square Rose Plate 23. 1-25/64" (35.5 mm) Mounting Screws (2) or
. Interior Rose 1-13/16" (46 mm) Mounting Scews (2)

Interior Lever 24. 1-1/4" (32 mm) Strike Screws (4)

Rounded Corner Faceplate 25. 3/4” (19 mm)] Latch Screws (4)

Deadbolt Strike Plate 26. 3" (76 mm) Reinforcement Screws (2)

27. 1-25/64" (35.5 mm) Mounting Screw (1)

k
E

2

CUSTOMER SERVICE

WESTERN CANADA 1-800-267-4774 | EASTERN CANADA 1-800-387-7064 | usa 1-800-388-9887

taymor.com
MAY, 2016



INSTRUCTIONS D'INSTALLATION
LONDON

OUTILS ET MATERIAUX REQUIS

> Perceuse

> Scie-cloche de 54 mm (2-1/8 po) > Ciseau

> Foret de 10 mm (3/8 po) > Tournevis Phillips
> Foret a bois de 25 mm (1 po) > Ruban a mesurer

aymo

MIS EN GARDE : L utilisation d’outils manuels est recommandée. Lors de
L'utilisation d’outils électriques, utilisez le réglage de couple le plus bas.

n DETERMINEZ LA ROTATION DE LA PORTE
Placez-vous du coté extérieur et faites face a la porte.
A. Votre porte ouvre A GAUCHE si les charniéres sont installées du c6té
gauche.

A B
ROTATION ROTATION
A GAUCHE ADROITE

CHARNIERES ~9 Q~ CHARNIERES

r;,
——p

B. Votre porte ouvre A DROITE si les charniéres sont installées du c6té droit.

UTILISEZ LE GABARIT POUR BOULONS TRAVERSANTS
AFIN DE MARQUER ET PERCER LES TROUS
1. MARQUEZ LA PORTE 2. PERCEZ DES TROUS
Utilisez le gabarit inclus pour Choisissez la distance
marquer des trous sur la face de la d'entrée. Marquez et percez
porte. des trous tel que montré.
A. Faites une marque pour un trou de
25 mm (1 po) sur le chant de porte.
B. Faites des marques a 914 mm
(36 po) et a 965 mm (38 po) du
plancher.

(2-1/8 po)

SIVOUS REMPLACEZ UNE,POIGN,EE EXISTANTE OU FAITES UNE INSTALLA-
TION SUR UNE PORTE PREPERCEE, VERIFIEZ LE MONTANT DE PORTE ET LA
PREPARATION DE LA PORTE

N

38 mm
(1-1/2 po)
ou

54 mm
(2-1/8 po)

140 mm
(5-1/2 po)

54 mm
(2-1/8 po)

(10 mm) —»x
3/8 po |

Distance d'entrée
60 mm (2-3/8 po)

ou
70 mm (2-3/4 po)

©

Oou

o()eo

O

)} ©
0o ou
©

214 mm (8-7/16 po)

70mm H x 28mm L

"':25 mm (1 po) g\

(2-3/4 poHx 1-1/8 po L)

[~ 25mm L x 30mm P

(1 poLx1-3/16 poP)

57mm H x 36mm L

€] L+
25 mm (1 po) ou

“— 22 mm (7/8 po) N
o

(2-1/4 poHx 1-7/16 po L)

| 25mm L x 25mm P

(1 poLx1poP)

Ciselez les contours pour les gaches jusqu'a
ce qu'elles soient a ras du chant de porte.

3 3 CHOISISSEZ LA TETIERE DU LOQUET POUR LA POIGNEE ET LE

PENE DORMANT

MORTAISE A COINS ARRONDIS OU A
COINS CARRES

Ciselez une ouverture de 3 mm

(1/8 po) de profondeur ou jusqu’a

ce que la tétiere du loquet soit a
ras du chant de porte.

A ENFONCEMENT

@ 38 mm

~N

\
b————-

entraxe 140 mm (5-1/2 pO]

o —
o3 |£8
= 2 c o
[ L T
[ R :OC")
o) 1
© o Y
o Y o
O c £
SEI |SE
7 E 2o
= O 0O o
0O~

10 mm (@ 3/8 po)

entraxe 214 mm [8-7/16 pO]

>

1-3/4
(45 mm)

Percez un trou de 25 mm (1 po)
au centre du chant de porte.

)

Placez sur le chant de porte.
1-3/4
(45 mm)

Pliez ici

Percez un trou de 25 mm (1 po)
au centre du chant de porte.

ENTRETIEN

Les directives d'entretien suivantes devraient étre respectées pour assurer une longue durée de vie de la finition :
1. Retirez les serrures avant de peindre la porte, ou attendez que celle-ci soit peinte avant d'installer les verrous.
2. Nettoyez périodiquement avec un savon doux et un linge doux seulement.
3. N'utilisez pas de produits chimiques abrasifs ou corrosifs.

S26-H400J15

MA

I, 2016



SI NECESSAIRE, AJUSTEZ LES INSTALLATIONS DU LOQUET POUR
OBTENIR UNE DISTANCE D’ENTREE ADEQUATE

‘ DISTANCE

D'ENTREE
60 mm (2-3/8 po)
ou
70 mm (2-3/4 po)

PENE DORMANT (V)

(2-3/4 po)

Insérez 'axe de la poignée pour
une distance d'entrée de 2-3/4 po
une distance d'entrée de 2-3/8 po

INSTALLEZ LE LOQUET ET LE PENE
DORMANT DE LA POIGNEE

e Placez le manchon sur le loquet de la poignée avant linstallation
dans la mortaise a coins carrés ou a coins arrondis

o N'utilisez pas de manchon pour les installations de loquet a
enfoncement

MANCHON

Tapez le loquet jusqu‘a ce
qu'il soit a ras du chant

n INSTALLEZ LA POIGNEE

Pour les trousde: 1
!'54 mm (2-1/8 po) :
1

Axe du péne dormant
en position horizontale

Pour les trous de :
38 mm (1-1/2 po)

— e &

Correct Incorrect

(POUR CYLINDRE SIMPLE) INSTALLEZ LE BOUTON OU LE LEVIER

Installez le bouton-poucier

o@ s

» 2

Serrez bien la vis de réglage

-y

Correct Incorrect

AR R R R R R RN RNRERENNRNN] OU [ A R R R R R RN RN RERENNRRNQN]

Serrez bien la vis de réglage

=

Correct Incorrect

MIS EN GARDE : Si vous avez commandé une garniture
intérieure, utilisez le chassis inclus avec la poignée
LONDON. Jetez le chassis inclus avec la garniture intérieure.

Installez le bouton ou le levier intétieur

[ 2
Plague pour rosette x f

carrée seulement

EEEEEEEEEE. OU EEEEEEEEE.

B} INsTALLER LES GACHES

Installer les gaches sur le montant de porte

Gache haute sécurité

Vis de 76 mm (3 po)

@’\

!
.

oW = o0

—

© Nk N =

. Rosette intérieure

Barillet extérieur 17. Rondelle
Plaque de renforcement intérieure 18. Cache-vis
Péne dormant 19. Collier a enfoncement de 2 piéces pour le péne

Plaque de montage du péne dormant dormant

Rosette du péne dormant intérieur 20. Collier a enfoncement de 2 piéces pour le loquet
de la poignée

Vis de fixation (2)

Vis de 54 mm (2-1/8 po) pour péne dormant (2] ou
vis de 63 mm (2-15/32 po) pour péne dormant (2)
Vis de montage de 35,5 mm (1-25/64 po) (2] ou
Vis de montage de 46 mm (1-13/16 po) (2)

Bouton-poucier

Poignée 21.
Loquet de la poignée 22.
Chassis intérieur

Plaque carrée intérieure 23.

Levier intérieur 24. Vis de 32 mm (1-1/4 po) pour gache (4)
Tétiére a coins arrondis 25. Vis de 19 mm (3/4 po) pour loquet (4)
Gache pour péne dormant 26. Vis de renforcement de 76 mm (3 po) (2)
Tétiere a coins arrondis 27. Vis de montage de 35,5 mm (1-25/64 po) (1)

Gache du loquet

2

|

SERVICE A LA CLIENTELE

CANADA OUEST 1-800-267-4774 | CANADAEST 1-800-387-7064 | E.-u.A. 1-800-388-9887

taymor.com
MAI, 2016



>
> Broca de 3/8 pulg.
> Broca para madera de 1 pulg.

> Cincel

INSTRUCCIONES DE INSTALACION
LONDON

HERRAMIENTAS Y MATERIALES NECESARIOS
> Taladro
Cierra cilindrica de 2-1/8 pulg.

> Destornillador Phillips

> Cinta métrica

ATENCION: Se recomienda el uso de herramientas manuales. Cuando utilice
herramientas eléctricas, use el ajuste de torsion mas bajo.

BISAGRAS

o ——

A,
APERTURA
A LAIZQUIERDA

~9

T—F

DETERMINE LA DIRECCION DE APERTURA
Parese en el lado exterior de la puerta y mire hacia la puerta
A. Su puerta es de MANO IZQUIERDA si las bisagras estan instaladas a su izquierda.
B. Su puerta es de MANO DERECHA si las bisagras estan instaladas a su derecha.

[ —

B.
APERTURA
A LA DERECHA

Q~

BISAGRAS

@ 54 mm
(2-1/8 pulg.)

E USE LA PLANTILLA PARA LOS PERNOS PASANTES
PARA MARCAR Y PERFORAR LOS AGUJEROS

1. MARQUE LA PUERTA
Use la plantilla proporcionada para
marcar los agujeros en la cara de la
puerta.

A. Haga la marca para el agujero de
25 mm en el canto de la puerta.

B. Altura 914 mm a 965 mm del piso.

2. PERFORE LOS AGUJEROS
Seleccione la distancia de
entrada. Marque y perfore los
agujeros como se muestra.

1 pulg. | 54 mm
i 2-1/8 pulg.

10 mm
3/8 pulg.

RACION DE LA PUERTA
N\

38 mm
1-1/2 pulg.
o

54 mm
2-1/8 pulg.

140 mm
5-1/2 pulg.

54 mm
2-1/8 pulg.

10 mm —»1[
3/8 pulg. |

Distancia de entrada
60 mm (2-3/8 pulg.)

o]
70 mm (2-3/4 pulg.)

©

©

D)

[o]
O
©)

“'-25 mm (1 pulg.)

L 25mm (1
" 22 mm (7/8 pulg.)

S| VA A REEMPLAZAR UNA MANIJA EXISTENTE O SI VA A INSTALAR EN UNA
PUERTA PREPERFORADA, VERIFIQUE LA JAMBA DE LA PUERTAY LA PREPA-

70 mm de alto x
28 mm de ancho

(2-3/4 pulg. de alto x
1-1/8 pulg. de ancho)
25 mm de ancho x
30 mm de profundo
t+— (1 pulg. de ancho x

1-3/16 pulg. de
profundo)

57 mm de alto x

ulg.) o

B

214 mm (8-7/16 pulg.)

36 mm de ancho
(2-1/4 pulg. de alto x
1-7/16 pulg. de ancho)

| 25 mm de ancho x

25 mm de profundo
(1pulg. de ancho x 1
pulg. de profundo)

Cincele los contornos de las placas de cerradura
hasta que queden al ras con el canto de la puerta.

n SELECCIONE LA TAPA DEL PESTILLO PARA LA MANIJAY EL CERROJO

MUESCA CON ESQUINAS
REDONDEADAS 0 CUADRADAS

Cincele a una profundidad de 3 mm
(1/8 pulg.) o hasta que la tapa del
pestillo quede al ras con el canto de
la puerta.

INSERCION

—+

Ve ~N
r—r———-

Distancia de entrada 70 mm [2-3/4 pulg.]

Distancia de entrada 60 mm (2-3/8 pulg.>

140 mm [5-1/2 pulg.] ENTRE CENTROS

N
NIZN

El=
3
ED.
9o
|~
[SY e

214 mm [8-7/16 pulg.] ENTRE CENTROS

l

1-3/4
(45 mm)

Perfore un agujero de
25 mm (1 pulg.) en el
canto de la puerta

\

sobre el canto de la puerta.
1-3/4”
(45 mm)

Doble aquiy coloque

Perfore un agujero de
25 mm (1 pulg.) en el
canto de la puerta

CUIDADO Y MANTENIMIENTO
Siga las siguientes instrucciones de cuidado para asegurar un acabado durable:
1. Retire las cerraduras, o no instale las cerraduras antes de pintar la puerta.
2. Limpie periddicamante con jabdn neutro y un pano suave Gnicamente.

3. No use productos abrasivos o productos quimicos fuertes.

S526-H400J19
MAYO, 2016



il S! ES NECESARIO, AJUSTE LAS INSTALACIONES DEL PESTILLO PARA
UNA DISTANCIA DE ENTRADA ADECUADA

‘ DISTANCIA
DE ENTRADA
@ 60 mm (2-3/8 pulg.)
o
70 mm (2-3/4 pulg.)

CERROJO (D » )—— Para 70 mm

(2-3/4 pulg.)

Inserte el eje de la manija para
distancia de entrada de:

2-3/4 pulg.

2-3/8 pulg

H INSTALE EL PESTILLO DE LA MANIJAY EL CERROJO

e Coloque el manguito sobre el pestillo de la manija antes de
instalar en una muesca con esquinas cuadradas o redondeadas

¢ No use el manguito para instalaciones de pestillo de insercion

MANGUITO

Golpee ligeramente el pestillo
hasta que quede al ras

n INSTALE LA MANIJA

Para agujeros de:
!'54 mm (2-1/8 pulg.)

1
1
1
1
0
;
1
1
1

Para agujeros de:
38 mm (1-1/2 pulg.)

Eje del cerrojo en
posicion horizontal

— e &

Correcto Equivocado

(PARA CILINDRO SENCILLO) INSTALE LA PERILLA O LA PALANCA

Instale el ribete del cerrojo

Apriete el tornillo
de fijacion

-y

Correcto Equivocado

AR R R R R R RN RNRERENNRNN] O EEEEEESESESESESESESESESESEEEEEN

€

4

Apriete el tornillo
de fijacion

— e &

Correcto Equivocado

ATENCION: Si ha solicitado una guarnicién interior, utilice
el chasis que se incluye con la manija LONDON.
Descarte el chasis que se incluye con la guarnicion interior.

Instale la perilla o palanca interior

Placa requerida solo <\\

para una roseta cuadrada

EEeEesssmmmm EEEEEEEEE.

n INSTALE LAS PLACAS DE CERRADURA

Instale las placas de cerradura en la jamba de la puerta.

- X

!
.

Placa de alta seguridad

RN

Tornillos de 76 mm

o Ul A~ W N = O o

® N oo LN =

P2

Cilindro exterior

Placa de refuerzo interior
Cerrojo

Placa de montaje del cerrojo
Roseta interior del cerrojo
Botdn giratorio

Manija

Pestillo de la manija
Chasis interior

Placa cuadrada interior
Roseta interior

Palanca interior

Tapa con esquinas redondeadas

Placa de cerradura del cerrojo

Tapa con esquinas redondeadas

Placa de cerradura del pestillo

ke emem =m0 s=m=m-

2

17.
18.
19.
20.

21.
22.

23.

24.

25.

26.
27.

Arandela

Tapon para tornillo

Abrazadera de insercion de 2 piezas para el cerrojo
Abrazadera de insercién de 2 piezas para el pestillo
de la manija

2 tornillos de ajuste

2 tornillos de 54 mm (2-1/8 pulg.) para el cerrojo o
2 tornillos de 63 mm (2-15/32 pulg.) para el cerrojo
2 tornillos de montaje de 35.5 mm (1-25/64 pulg.) o
2 tornillos de montaje de 46 mm (1-13/16 pulg.)

4 tornillos de 32 mm (1-1/4 pulg.) para placa de
cerradura

4 tornillos de 19 mm (3/4 pulg.) para pestillo

2 tornillos de refuerzo de 76 mm (3 pulg.)
1 tornillo de montaje de 35.5 mm (1-25/64 pulg.)

- T

OESTE DE CANADA 1-800-267-4774

SERVICIO AL CLIENTE

| ESTE DE CANADA 1-800-387-7064 | EE.UU. 1-800-388-9887

taymor.com
MAY0, 2016



	30-31_london_install_instructions_eng-o
	30-31_london_install_instructions_fr-o
	30-31_london_install_instructions_span-o

